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Venue Name

Section : General Intelligence and Reasoning

Q.1 & Tt G HEmedt @) 3 # e gge W FHfifad # @ i a1 gHier wd) gme
29YT8
Ans X 1.8+1+4x2-3=18

K 2.2x4-8+6+3=33
@ 3.8x4+6-2+1=6
K 4.7x2+6+3-8=60

Question ID : 264330105096
Status : Answered
Chosen Option : 3

Q.2 fau Tu e § F19-A 3 RIE F WM RER Jed 37 A THieor Hgfed g smem?

95*5+19+2-21=36
Ans y1,+3ﬁ¢*
K 2 + 3R+
X 3.+3R-
X 4. +3R-

Question ID : 26433067850
Status : Answered
Chosen Option : 1

Q3 %ﬂﬁﬁmﬁﬁmﬁwaﬁw%ﬁﬁﬁm%wﬁﬁ
?

9 dUT6
Ans X 1.7x6+3+9-8=19

K 27+6x4+9-8=5
K 3.6x8~9+3+5=75
o 4.9%x7+4+1-6=38

Question ID : 264330105104
Status : Answered
Chosen Option : 4




Q4 ol IR sier-agE A | 99 freh i 78 J 90 € ok 1o 574 ki B
BRI SH&R-TYE HT 999 Hiorg|
Ans X 1.JLN

X 2. HIL
X 3.0Qs
« 4. MOP

Question ID : 26433069001
Status : Answered
Chosen Option : 4

Q.5 fyferEa & ¥ H1F- I=m & w8 Joft & usfag (7) R W 3 9Hdl 872
31, 2, 40, 49, 61, 76

Ans X 1.35
X 2.37
& 3.34
X< 4.36

Question ID : 26433068331
Status : Answered
Chosen Option : 3

Q.6 waagqﬁu;}w%,ﬁwﬁﬁwwqa%%qwﬁm?ﬁﬁagaﬁﬁww,ﬁ
|
ABCD, CTFZ, ELIV, GDLR, ?

Ans X 1.IMOQ
« 2. IVON
5 3.QMQR
X 4.1TOQ

Question ID : 264330104819
Status : Answered
Chosen Option : 2

Q7 gRS-THTAIEF S, THAMIE, sxTHAFfFr s, THRNAR, s+THTASE P
S, T & 98 §, df Fafalad & @ S 91 Fivie a8 fAefud sa1 g, & P, R &) A 82
Ans X 1.R+Q-P

& 2.P-Q+R
X 3.Q-P+R
X4 PxQ+R

Question ID : 264330104965
Status : Answered
Chosen Option : 2




Q8 37 Y F1 9UT BiET I BT MFT AT F woT e (2) F
gfawafa

(a) () e [

Ans

< 1.

e
=
)
8

x 3. P

Question ID : 26433081062
Status : Answered
Chosen Option : 2

Q.9 faweul # faar mar S a1 sreR-ae Fafifad e & yyitg (7) & R™H R 1R
SGdT B gul B2
DW, FU, HS, JQ, LO, ?

Ans 7 1.NM
& 2.NN

< 3. MN
X 4.NO

Question ID : 26433066007
Status : Answered
Chosen Option : 1




Q10 37 fyweq WIH & T F S & € wply F dafifea ¥ (gE H
Frepfer w7 )|

/XN
Ny
Ans V”'\_//KJ

%

Question ID : 26433068725
Status : Answered
Chosen Option : 1

Q.1 wﬁmmmaﬁmwﬁmwﬁmﬂmmﬁm%ﬁmwmwm
T & Hafta B (et P srefgef R wedt & & § A o wnfee ok v #
&R ERT B H-AT S YR W TH gOR A Feiftrd 781 fvan st =ifee)

W:W::Wﬁ:?
Ans X 1. Qe WA

X 2. @ewiH

3. 3

X 4.9

Question ID : 26433067819
Status : Answered
Chosen Option : 3

Q.12 fFEfifad d§ & o9 a1 Sae? af 2003 & Hasy P A 2

Ans X 1.2013
X 2.2012
 3.2014
X 4.2011

Question ID : 26433093115
Status : Answered
Chosen Option : 3

Q.13 T® [Afyd e ur #, 'You’ &1 '71° 3R ‘TOO" F1 '60' & = # foram wran 81 3ft ey
¥ 'sIT' # {59 yPR A fr@m w2
Ans 7 1.58
X 2.9
X 3.94
X 4.90

Question ID : 26433069565
Status : Answered
Chosen Option : 1




Q.14 =2 fou 7T vy #, TR G© g T 1 ¥ | vl T # (<) b arft 3R & v e () &
T SR & 1§ Wen ¥ el adb/FrauRidy @ WEitd 71 i g S Ue ae/Aameey
¥ MYR W IAME ¢ | 3T ¢ faeeat & & fwm &1 g1 (am < demef o1 39 daee
3t # favtfora fpg farm, qof wemsit wr wfsant frarfea @1 st wnfgw ) Sarewor 137 -
13 IR HfHATE 39 & 13 § SigATaeHIAToN ST onfe frar s wawar 31 13 A1 1 3R 3 &
dreAT 3R 3R fFR 1 3R 3 WR Ny wfshaTd A Ft srgafa T8 @)

Ans X 1.10-100
X 2.4-16
& 3.8-62
X 4.6-36

Question ID : 264330105053
Status : Not Answered
Chosen Option : --

Q15 p+ra@radgfrp QP @
P-qarafefd P Qe amre
pra@Taf e frp QA ST
P%QBHTISEF P QBTUE R
IfEA-B%C*D+EB, dl ADIE AT HIY 82

Ans .y 1. Tl

X 2. 989

X 3. HIaT

K 4.3

Question ID : 26433059896
Status : Answered
Chosen Option : 1

Q.16

ZuoT o B F #gER MN' T B §, BT T §EeE e e wel
aqur wfaféer 1 =aa @i
M

4 erdnKLTt

N

™ xit1 An b Lo B
2 f I An b Lo b
x> £ 1 An b rLe B
v+3+1 A n b 19 B

Question ID : 26433070251
Status : Answered
Chosen Option : 4




Q.17

Ans

2 fou U Yy ¥ 7O YA 3R ITF q1¢ 39 FYHI W uTRE 8 fAewpd few e §1 fiw
T HYT B e A, YA & ITH JrH=IE: FId Tt A firar g1 i e ue ofik TR
Py ¥ % @19 A Freed, fi T 3=t &1 aifbe w0 d srgmRo w3 §1

DY

.$B P, KEI

I aﬁ'{K TEI 81

|'\=nﬁP TEI

0.l T, K&l

|||.§R§P,T=|?r'%'|

X 1. @ e SRy v &

2 2. 113 1 Frs e offeRr v §
% 3. bad B || SR BT §

o 4. Had spY |11 SR T 7

Question ID : 264330104930
Status : Answered
Chosen Option : 4

Q.18

Ans

T [Afid e o, 'FROST' 1 *156' & ¥ # foraT wITan € 3R 'CANDLE' &1 '78' &
= ¥ forar wirar 1 I YT # 'SCREAM' #Y S ferar simewmn?

& 1. 118
X 2.115
X 3.59
X 4.89

Question ID : 26433067566
Status : Answered
Chosen Option : 1

Q.19 fAT 7T Yo T ATFYED AT B 3R I TS FT T4 B, S IH UHRF (?) B

Ans

yfoeid & 9|

ugell Ui - 12, 7, 32

ool ufa - 17, 13, 33

N ufRT - 14, 8, 2

(Fie: el B 3P ged 3wl A faurime fare fam, gof Jemnsi ur nfordty wifsrang «t
ST TIRT | ISTeRvT & Y 13 - KRy Gfrane S % SisArae AN ST 3dife 13
o foraT <1 gpa1 81 13 BT 1 3R 3 H FAUTRTa $-11 3R R 1 3R 3 wR Wi dfsrard
FX P Al T B 1)

& 1.38
X 2.35
X 3.43
X 4.42

Question ID : 26433069201
Status : Not Answered
Chosen Option : --




Q.20 gﬂﬁaﬁ%mmaﬁ,wﬁ%ﬁﬂ%wﬁ@hwﬁﬁﬁaiﬁmwmwmw
Hafdra g1
(<reat 1 3refyut SRS gl & =0 & urHr ST AR ok 3% Rreg A SigRY @t W=/
mﬁﬁm/wﬁﬁﬂm%aﬂmwww&mqﬁ%mmaﬂﬁn
gs:uahtqd: 2

Ans X 1.Us
< 2.5

3. ayTaar
X 4. auf

Question ID : 26433056817
Status : Answered
Chosen Option : 3

Q21 g & 9T Fr e reAer-3rereT A @ g Tar &1 1 g arer
Feldh & [A9iig wele & & AT Hifew)

Figure 1 Figure 2 Figure 3
Ans X 1.6

X 2.3
& 3.2
X 4.4

Question ID : 26433069441
Status : Answered
Chosen Option : 3

Q.22 39 fapey &1 99 HY il D F© A IH yeR Gt g, e gor el Sen gad
Ter & "afta 2 ok uiadY Wen o8 wen @ Salta g1
8:48::?7:143::15:195
Ans 7 1.13
X 2.19
X 3.17

X 411

Question ID : 26433059946
Status : Answered
Chosen Option : 1




Q.23

e av et & ¥ 3@ agpla & 9w WA T smpfa-gmer &
SeAfaEs (?) ¥ T 9 I THEAT §72

- R —r - L S

A B C I
%) 0 o ?
DF E
Ans
G
x 1 Q
H
|G
X2 O
H
H
&3 Q
|G
H |
x4 0 |
6 |

Question ID : 26433057853
Status : Answered
Chosen Option : 3

Q.24 U TN FHyAY 3R el FI erFyde ufew| g8 g % FyAl & & ¢ SeeR I@
g, ¥ €1 98 9T U 9 31d T @ e wdta g 81, fofa St fF few e et &
A F-HIRA SYI BT qIhP &Y A SATHV BT /B g
DY
g} <fg A 7
- PO Uod 1P g
i
. $° a7 uod B
1. PIS A i TS B
. $3 T AP 8
Ans X 1. %ad (Y | 3R 1| STERU A §
X 2. Pad fIshy | 3TERU BT §
< 3. Faq fspY | 3R 111 3TERT B &

o 4. Faq FpY || SIER0T HRaT 7

Question ID : 26433058076
Status : Answered
Chosen Option : 4




Q.25 39 BT g B R FBme 3y # S veR Taft § o ver frafataa

S e et 1
(5, 2, 23)
(6, 2, 34)

(File: T B 3P ged 3wl H faurim fare famn, gof Temsi wr nfordty wifspang «t
ST TR | IeTeR0T & A 13 - Kty Afrant S % SisAIge AN ST 3dife 13
o foraT ST ga1 81 13 F1 1 3R 3 H FAUTRIG %1 3R fhR 1 3R 3 wR Wi dfpame

FE B AR TR B1)

Ans X 1.(3,3,3)
X 2.3,5 1)
% 3.(3,2,9)
& 43,27

Question ID : 26433087184

Status : Not Answered
Chosen Option : --
Section : General Awareness
Q.1 sfiieq ¥ fien w18 71 3R Fwar 82
Ans X 1. HEER & fog 3G 9iftq &m
X 2. BemR & forw Fde
« 3. FEER & oy Tara
X 4. PR & fu
Question 1D : 26433059424
Status : Answered
Chosen Option : 3
Q.2 TP We T (3N rufip) T WItd HRA 9TeT 337 1 gl e a4
TRl
Ans X' 1. DR
o 2. d
X 3. Rmen
X 4.9

Question ID :
Status :
Chosen Option :

264330105216
Answered
2

Q.3 Fofafad & A e Seoa HIRd & AU & Aifere iR & wu # 8 fFar [ 82

Ans X 1.0 & favg efeR
X 2. GdAd BT TSR
3. Sufl &1 iR
X 4. e o1 SHfUBER

Question ID :

Status

26433086797

: Answered
Chosen Option :

3




Q4 Jarg 1968 H g wifa M A ve ARy g1 fewe foram ot fmam ur?
Ans X 1. TETET el

« 2. Sfexr el

X 3. AR I1d g ®

X 4. Ordia| gE

Question ID : 26433065455
Status : Answered
Chosen Option : 4

Q5 ?ﬁmﬁﬁﬁ'mﬁwﬁ%mmﬁ?ﬁﬁwmﬁm Dugie
?

Ans X 1. ffarfq aren o
X 2. Sfrqolt It sres
« 3. ST U=T gaervaq
X 4. iR porfd

Question ID : 26433082129
Status : Answered
Chosen Option : 4

Q.6 IR U SRIUT TR Tt (R 3?2
Ans X 1. 3{I0ig

& 2. FA

X 3. UTemHgR

X 4. TGS

Question ID : 26433089206
Status : Answered
Chosen Option : 2

Q.7 Personal disposable income (PDI) can be defined as

Ans X 1. Pl - Personal tax payments + Non-tax payments
«” 2. Pl — Personal tax payments — Non-tax-payments
/< 3. Pl + Personal tax payments — Non-tax payments

25 4. Pl + Personal tax payments +Non-tax payments

Question ID : 264330105394
Status : Answered
Chosen Option : 1

Q.8 g ® A FH-u e S UraTe & SAfueR & e & wdt T8 82
Ans 2 1. 98 YRd & YU Pl IeTEHR 1T Uel Bl g

X 2. 3P A RGeS B Wi U gt 21

< 3. T8 37 RBR & & ey =marerd ) Fafd BT 21

X 4. e 7 fpR &7 T SMaT ]

Question ID : 26433069896
Status : Answered
Chosen Option : 2




Ans X 1. SR - Rl
X 2. TR
o 3. TR
X 4. 3T

Q9 Iga FIW T 3R fega alfes @ WA & RS |

Question ID : 26433054485
Status : Answered
Chosen Option : 1

Q.10

FITH A & dcal &1 &, FlelH B H 36 dcd GHg & 1Y

# oo 7 gefaa &
FIH-A (dcd) | HAA-B (HTad RO H Tear &1
THE)
i. Na a. Toeholl ©Td
ii. Cu b. 8T FET UTq
iii. Mg C. THATT ©Tg
iv. He d. T HAG dca

Ans ¢ 1. i-a,ii-c, iii-b, iv-d
& 2. i-a, ii-d, iii-b, iv-c
K 3. i, ii-b, iii-c, iv-d
& 4. i-d, ii-a, iii-b, iv-c

Question ID : 26433064110
Status : Answered
Chosen Option : 3

Ans X 1. 39 fifarE
o 2. 3TUT I

X 3.4 gt
X 4. o Afkiga

Q.1 frafifed & J frd wfia T RRER PR 2022 § T e mar?

Question ID : 26433090711
Status : Answered
Chosen Option : 1




Q.12 Fd g & ST §YET gRT et S g
Ans X 1. fifdwH

o 2.7
X 3. FRUY
X 4 g

Question ID : 26433064293
Status : Answered
Chosen Option : 2

Q.13 gyrHEA g A 3 BT, AT S ufaer wWe &5 § U 4T 3T sedl 8 | T8
e # ydeq 31 werar it

Ans X' 1. IGRIH
X 2. S0 3R HIR
« 3. ToRTd
X 4. IR U™

Question ID : 264330105277
Status : Answered
Chosen Option : 3

Q.14 The national Archives of India came up in the
Ans X 1.1900s

X 2.1910s
< 3.1930s
 4.1920s

Question ID : 264330105543
Status : Answered
Chosen Option : 4

Q.15 Which food requires a longer small intestine to digest food?
Ans X 1.Eggs

” 2. Grass

/< 3. Chicken

X 4. Lamb

Question ID : 26433091484
Status : Answered
Chosen Option : 2

Q.16 1930 # Ugel IR WPHSH Vel $ Ao fory =1 A & A2
Ans X 1. 3fieferar

X 2.5d0s

& 3. ST

X 4. Tolids

Question ID : 26433059400
Status : Answered
Chosen Option : 2




Q.17 geR a1 Sradufew, Fafafea & @ few o o1 oo u1?
Ans X 1. TS

o 2.91d

X 3=

X 4. q@ICH

Question ID : 264330105186
Status : Answered
Chosen Option : 4

Ans 1. 3BT
X 2.t
X 3. IR ARBT
X 4.

Q.18 THHE HEEIU ¢ R gier &b YT, YA 3@ 3R 7 341 ToRdl 21

Question ID : 264330105620
Status : Answered
Chosen Option : 1

faurfora forar man 21
Ans 1.7

X 2.16
K 3.6
X412

Q.19 we Rt & Risia & suR, 7t & watisda &t S 3R $o BN W A

Question ID : 26433086622
Status : Answered
Chosen Option : 1

HEl STdT gl
Ans X 1 T YR

X 2. fach-facht
« 3. TG
X 4.8RFF

Q.20 THATA B GFHAT P SHERT-SERT fFEAT W SERT-SIERT ATHI | ST SIrer 71 fretidia & 396

Question ID : 26433086625
Status : Answered
Chosen Option : 3

Q.21 Fafafad & ¥ R gua wure gurd &) 9 § gmr ur?
Ans X 1. o dIRE

o 2. A

X 3. gwifde 2

X 4. o gifen

Question ID : 264330105434
Status : Answered
Chosen Option : 2




Q.22 et safed gRT ST @ TS IR TR & a1g Yo R aid 82

Ans aqéé.%ﬁﬂéﬂﬁ%@%WéﬁﬁWﬁé%%ﬁﬁﬂhﬁﬁﬁW
X 2. U oS T U8 XU SO B § off U6 B HRUT I §
X 3. TR & H[3T F geA & HRUT
X 4. 3AME PI TS A F PR gART ARG H gESiaaiNe 3 &1t Taq &
RO T §

Question ID : 26433066668
Status : Answered
Chosen Option : 1

Q23 YRA A Ug WU ay _ #gs dh
Ans X 1.1860

o 2.1872

X 3.1920

< 4.1900

Question ID : 264330105490
Status : Answered
Chosen Option : 2

Q.24 FHfafad & 3 A 1266 V 1287 F 914 HRT & M fHar?
Ans X 1. 3R M6

X 2. TR SeqareR
« 3. TAREE M Saa
X 4. DIIEH U
Question ID : 264330105400
Status : Answered
Chosen Option : 2
Q.25 BRadl 2022 #, HERTY WHR 3 81U TIU Ugd P TI9O H |

Ans X 1.5dl &I uigar § geRA & forg
2. IR AGYH F foy
X 3. 3N Sy veied & fog
X 4.9 MR srawr § YR e & forg

Question ID : 264330105285
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 i wEmait 72, 108 3R 2010 HT HETH THIYGHS (HCF) T 32
Ans 1.6

X 25

X 3.12

X 4.18

Question ID : 26433079818
Status : Answered
Chosen Option : 4




Q.2

fRra &1 w1 39T Rs.75,000 | 98 TR WA TR Rs. 12,000, TASATSH 3R Tgard s
TR Rs.14,000, 3T S B RIG T Rs.15,000 T ST 3 IR Ped Wl & fog
Rs.10,000 3T & | W& S¥Id Rs.21,000 TFa HTE & 3R a8 9 IR TH ST Y &
PR AT 2| SUD! 39 BT Uia=Td, Sl 98 19 Al 8 98 8

Ans X 1.3%

>~ 2.6%

 3.4%

> 4.8%

Question ID : 26433075313
Status : Answered
Chosen Option : 3

Q.3 3

T & o i a1 a7 T 87

.100°—99%+ 982 — 972+ 96°—952+ 942—-932+ +

227- 2173 ATT4840 8]

LYV I¥au. 1)
2 1 Tl | 4+ k+_] Kt T AT
{ G A S B
16 %I
k

Ans X 1.%dd |l

X 2. 1quT I gAY

XA iad

o 4. Fad |

Question ID : 264330105962
Status : Answered
Chosen Option : 4

Q.4

Ans

fA=afafea X s 2010 & 2015 &% F9t A & fafa Al smoe
(X HU3 & oF F Heal A) F I H WERg A
AT & CATIEH HeAda HIET 3R B 71w 3@ ek & 3MuR o 9o & 3R Jf9w)

2010 & 2015 a& w90 A & Brlg stk amne (7 &S
# O & T ) F S 1 ugfie F At arge |

Thast ast F &t A & Feia Hut $ 3mara @ 30 ar?
Xo1.aH
X273
X 3.98
4. TR

Question ID : 26433082778
Status : Answered
Chosen Option : 4




Q.5 3 & arferet 5 fafira auf & 3 320 gRT fad=h R @t gz 21

Ans

o

| L | M

Y1 | 250 | 125

Y2 | 230 | 185

X3 | 155 | 275

Y4 | 145 | 255

Y5 | 115 | 170

| 5 quf 7 I M gRT T IR SR | R?

& 1.1010
X 2.505

X 3.1215
< 4.1005

Question ID : 264330105758
Status : Answered
Chosen Option : 1

Q.6 Tfe TEAT 6788934a4, 11 T fAUTST &, 1 a F WM W TIA B Ui IEAT i BIC|

Ans

X 1.3
& 2.2
X 3.5
X 4.4

Question ID : 26433074331
Status : Answered
Chosen Option : 2

Q7 oot v o 3 BfEeT vt & 100 #F ¥ w7 37 g ¥

Ans

e e, o0

. © T

=

o

80_% 4 e faa=T

a5 T
-
70
TR 3R AT & ureg 3 A HR R & e et ftrem #)

X 1.30
X 2.35
% 3.20
& 4.25

Question ID : 26433079970
Status : Answered
Chosen Option : 4




Q8 fgds oo 2014 91K 2020 % ¥4 U T axg p % Fafa & s 00  <xid B

pHITFTE

1300
50
=00
20ae 2015 2018

iz0

1270

200

Rs&5 &

207 ama 2010 2020

EL
fooa- anf s forg, p &1 fFafd p & ofigd Rafld I A an
Ans X 1.4
K22
X031
& 4.3
Question ID : 26433075960
Status : Answered
Chosen Option : 4
Q.9 %mmﬁwaﬂwgﬁ.ﬁ.%l 59 gHaTg PYs & ufa $ 99 99 3t Beam
?
Ans
X 1.2:f3 aa
v2 3.3 g
X3 5.3 3
X4 4.f3 T,
Question ID : 264330105869
Status : Answered
Chosen Option : 1

Q.10 I A Rs.1,250 B T G IH DI 18% & ATH WR 1T | 3 AT §RT AT HI b J 10%
3 g1 WX 9 feam | 0w &1 fawea g e s

X 1.Rs.1,427.50
< 2.Rs.1,428.50

Ans

o 3. Rs.1,327.50
< 4.Rs.1,328.50

Question ID : 26433064970
Status : Answered
Chosen Option : 3




Q.1 Tw @fet A 3 99 aiie fewl & ufady 5% aifife araror sr 9 22,000 SYR gl
e farva am ghfte

Ans

x 1. 3250 =
' 63

> 373020
e 63

. 11
X3 S
3640 3

9
< 4 —
3840 3

Question ID : 26433076081
Status : Answered
Chosen Option : 3

P ER2 4 B g iRa-b =23, W0} BTHA A BT

Ans X' 1, -1
2.
X 3.

R =

x4

Question ID : 26433079813
Status : Answered
Chosen Option : 2

Q.13 81 km/h & T | TeH ATl 29 A, 37 B § 3 e § 72 sec &1 JHY a9 Ad1 8, 99
AN TP ARMATEE N L, AT IR P AN R A @ ) &, A wv g
P IR B | 36 sec BT IUT Al & | AfS 7 B Pt AT 600 Wier B, ol 37 A F1 18 7a
Y| (iR )
Ans X 1.600
2 2.590
2 3.900

& 4. 480

Question ID : 26433079956
Status : Not Answered
Chosen Option : --

O 22 Qe B AT 1 T 12.6 em @, T ST AT & (e = 22 A

Ans

X1 1250 cm?

¥ 2523.908 cm’
X3.1235.621 cm®
X4 987 cm®

Question ID : 26433065305
Status : Answered
Chosen Option : 2




Q.15 0_ o
Qﬁtﬂ'ﬁ‘l‘ﬂu _ L'I%, ?_ﬂ- tan320°—tan310 Hmmﬁﬁ'ﬁ'ﬂ"l

1+tan320%tan310°

Ans 14a?

<1

Question ID : 26433063828
Status : Not Answered
Chosen Option : --

Q.16 faT F} I 3TY BT TS YA B T R | U 7 : 2 71 AfE 10 7 q1¢ I 3Mg
T SUTd 9 : 4 B S7aT §, a1 fran &Y adar 3y #:

Ans 1 35T8
X 2.40Td
X 3.3734
X 44379

Question ID : 26433065280
Status : Answered
Chosen Option : 1

Q.1
! qﬁsec g +

Ans X 1.0
K 2.55
& 3.2
< 4.1

= =2%,T‘ﬁsec§5l9+ HIAFAIAD GIQl

cos8 sec53g

Question ID : 26433061772
Status : Answered
Chosen Option : 3

Q.18 TP I FT 5T Yo 2800 B 1 10% P Fe A F 1 12.5% BT ATH §3HT| TG F1 Sifha gea
1d Bifeei
Ans X 1.%1,100

X 2.%1,200
X 3.%1,300
o 4.%1,000

Question ID : 26433076037
Status : Answered
Chosen Option : 4




Q.19 foh=gt 3 THEY Y &b &hd HH: 324 cm? 3 289 cm? § | 37 T Lfdfeal &1
EECICRICEIE Y]

Ans > 1. E
19
19
17
17
18
18
17

< 2

&< 3.

& 4

Question ID : 26433066331
Status : Answered
Chosen Option : 4

Q.20

aﬁ,i+?:1?,?-frr3a?rmmr—raﬁﬁtrl

13

Ans X 1.2157
& 2.-2197
& 3.-2157
X 4.2197

Question ID : 26433074244
Status : Answered
Chosen Option : 2

Q.21 T® §aTS SIETSl Ud Bt 3R 14 km 3R R IR BT 301R 48 km HTaT 21 TE U+ YRS
fRufa @ fPat gz 872

Ans 7 1.50 km
< 2.28km
< 3.48km
X 4. 14 km

Question ID : 26433079780
Status : Answered
Chosen Option : 1

Q.22 & HfH A 3R B 3IT-3CT HTH HIP [hal Ha- BI HH: 6 3R 10 TS H W B GPhd
21 3 IO A TH-USP T P SR W PTH B ¢ 1 i 8 a.m. W A BT URH ST ©,
ot a8 S foba=il X H FHIW gI?

1,

Ans

) 1

) 1

) 1

Question ID : 26433080200
Status : Answered
Chosen Option : 1




Q.23 TH ¢ QA 5 e H 18 m/s P T A AT HA 7, 3 10 A H 7.5 km B g @
P & 3R gAY 10 FFeE ® 12 km Y g a0 Bl @1 T amn & e g9t s i
(km/h ¥, 1 SRATT F I T YuIifera) F1 82

Ans X 1.64.6

o 2.59.8
X 3.71.2
X 4.457

Question ID : 26433095010
Status : Not Answered
Chosen Option : --

Q.

24
IfE tan?0 +tan*6 =1 § ar 2|

Ans X 1. sin?8+ sin*B=1

¢ 2 cos?B8+cos?=1

X3 cot’B+cot*B=1

X4 cosec?’B+sec*f8=1

Question ID : 26433075222
Status : Answered
Chosen Option : 3

Q.25 If¢ AABC = APQR & 3f¥ ABC = (x + 60)°, ~PQR = (85 — 4x)° 31T - RPQ = (3x + 65)° &,
dt LABC BT 9 =1 .|

Ans 7 1.65
X 25
X 3.45
X 4.15

Question ID : 26433083004
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There can be precious / diamonds and metals / in the surface / just below you.
Ans X 1.just below you.

«” 2. in the surface
/< 3. There can be precious

/< 4. diamonds and metals

Question ID : 26433096150
Status : Answered
Chosen Option : 1




Q.2 Select the most appropriate ANTONYM of the underlined word in the context of the
given sentence.

You should donate your old clothes to the poor.
Ans X 1.modemn

5 2.young
o 3. new
X 4. fresh

Question ID : 26433061040
Status : Answered
Chosen Option : 3

Q.3 Select the correct indirect form of the given sentence.
Farah said to her aunt, “I am studying contemporary art.”

Ans X 1. Farah told her aunt that she is studying contemporary art.
«” 2. Farah told her aunt that she was studying contemporary art.
/% 3. Farah told her aunt that she was study contemporary art.

% 4. Farah told her aunt that she had been studying contemporary art.

Question ID : 264330104601
Status : Answered
Chosen Option : 2

Q.4 Select the correct passive form of the given sentence.
They welcomed Jane and Karan to the gathering.

Ans X 1.Jane and Karan had been welcomed by them to the gathering.
% 2. Jane and Karan is welcomed by them to the gathering.
/< 3. Jane and Karan are welcomed by them to the gathering.

«” 4. Jane and Karan were welcomed by them to the gathering.

Question ID : 264330104558
Status : Answered
Chosen Option : 1

Q.5 Select the sentences that contains no spelling errors.
Ans X 1.India has started the largest inokulation drive in the world against Covid.

/< 2. India has started the largest inocultaion drive in the world against Covid.
/< 3. India has started the largest inculation drive in the world against Covid.

«” 4. India has startedithe largest inoculation drive in the world against Covid.

Question ID : 26433070700
Status : Answered
Chosen Option : 3

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A list or collection of books or informative graphics
Ans X 1.Hamlet

X 2.Bale
X 3. Gallery
«” 4. Catalogue

Question ID : 26433073679
Status : Answered
Chosen Option : 4




Q.7 Select the sentence with the appropriate use of preposition.
Ans X 1. The lion and the unicorn fought up the crown.

/< 2. The lion and the unicorn fought between the crown.
«” 3. The lion and the unicorn fought for the crown.

< 4. The lion and the unicorn fought by the crown.

Question ID : 26433073893
Status : Answered
Chosen Option : 3

Q.8 Rearrange the parts of the sentence in correct order. apart from generating
P. real income for players, play-to-earn
Q. games also create communities
R. where gamers and creators can meet, share
S. wisdom, and do deals with one another

Ans X 1.RSQP
& 2. PQRS
< 3.PRQS
& 4.SPRQ

Question ID : 264330104676
Status : Answered
Chosen Option : 2

Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. A glimpse of its rich cultural heritage can be found through the great monuments
and other historical sites it has.

B. India has a vast cultural and linguistic diversity which make the country culturally
rich.

C. These monuments and historical sites are the symbols of India’s diversity.

D. Several historical sites and monuments are identified as UN Heritage Sites.

Ans X 1.CDAB
« 2. BACD
< 3.ABCD
< 4.BADC

Question ID : 26433072378
Status : Answered
Chosen Option : 4

Q.10 Identify the spelling error in the given sentence and select the option that rectifies the
error.

Success is the continious journey towards the achievement of predetermined goals.
Ans X 1.sucsess
«” 2. continuous
X 3.gaols
< 4. achivement

Question ID : 26433060318
Status : Answered
Chosen Option : 3




Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Making of a false document with a false signature
Ans X 1.Ruse

o 2. Forgery
/< 3. Deception
& 4. Insincerity

Question ID : 26433061037
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate ANTONYM of the given word.

Incoherent
Ans X 1. Apparent

< 2. Gloomy
< 3. Pensive
«” 4. Rational

Question ID : 26433071784
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.

The intern aspired to understand the ins and outs of the operating systems of the
institution.

Ans X 1.Elaborate theories
o 2. Detailed description
/< 3. Stern regulations
#< 4. Prior conditions

Question ID : 26433071988
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

This package is ideal for infant teenager who are just getting started with babysitting.
Ans X 1.youngest teenagers
< 2. No substitution required
«” 3. young teenagers

/5 4. younger teenagers

Question ID : 26433088513
Status : Answered
Chosen Option : 1




Q.15 Select the most appropriate option to fill in the blank.

The class teacher made us wait after school to some advice on how to attempt
the board exam.

Ans 7 1.give
X 2. leave
< 3. pay
X 4. deliver

Question ID : 26433089743
Status : Answered
Chosen Option : 1

Q.16 A sentence has been given with a blank to be filled with an appropriate word. Choose

the correct alternative.
To make your own gargle, half a teaspoon of salt in a glass of lukewarm or

partly cooled boiled water.
Ans 7 1.dissolve

< 2. cease
75 3. cast
< 4. consolidate

Question ID : 264330104773
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate synonym for the underlined word in the given sentence.
You also worked with another eccentric genius.
Ans X 1.elusive
< 2. ecological
/< 3. Middle
«” 4. Peculiar

Question ID : 26433072083
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate idiom that can substitute the italicised words in the given
sentence.

My mother said, “Make consistent progress for success.”
Ans X 1.do’s and don'ts
5 2. makea habit
«” 3. slow and steady
25 4.in and outs

Question ID : 26433060512
Status : Answered
Chosen Option : 2




Q.19 Select the option that is similar in meaning to the underlined word.

He declined the offer to join the Board of Directors.
Ans X 1. Delayed

«” 2. Rejected
X 3. Deferred
< 4. Modified

Question ID : 26433060588
Status : Answered
Chosen Option : 3

Q.20 Select the correct passive form of the given sentence.
Has she completed the record?

Ans X 1. Has the record been complete by her?
/< 2. Has the record had been completed by her?
¢ 3. Has the record been completed by her?

/< 4. Has the record completed by her?

Question ID : 264330104549
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A hummingbird’s brilliant throat colour is not caused by feather (1) , but rather by
iridescence in the arrangement of the feathers. Light level, moisture, angle of viewing, wear
and tear and other factors all (2) just how bright and colourful the throat may appear.
Hummingbirds cannot walk or hop, though their feet can be used to (3) sideways while
they are perched. These birds have evolved smaller feet to be lighter for more (4)

flying. They will use their feet for itching and (5) , however.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.deposition

& 2. pigment
25 3. sediment

/5 4. perspiration

Question ID : 26433073346
Status : Answered
Chosen Option : 3




Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A hummingbird’s brilliant throat colour is not caused by feather (1) , but rather by
iridescence in the arrangement of the feathers. Light level, moisture, angle of viewing, wear
and tear and other factors all (2) just how bright and colourful the throat may appear.
Hummingbirds cannot walk or hop, though their feet can be used to (3) sideways while
they are perched. These birds have evolved smaller feet to be lighter for more (4)

flying. They will use their feet for itching and (5) , however.

SubQuestion No : 22
Select the most appropriate option to fill in blank number 2.

«” 1. influence
X 2. allure

25 3.intimidate
X 4. persuade

Question ID : 26433073347
Status : Answered
Chosen Option : 3

Q.23
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A hummingbird’s brilliant throat colour is not caused by feather (1) , but rather by
iridescence in the arrangement of the feathers. Light level, moisture, angle of viewing, wear
and tear and other factors all (2) just how bright and colourful the throat may appear.
Hummingbirds cannot walk or hop, though their feet can be used to (3) sideways while
they are perched. These birds have evolved smaller feet to be lighter for more (4)

flying. They will use their feet for itching and (5) , however.

SubQuestion No : 23
Select the most appropriate option to fill in blank number 3.
< 1. obtrude

& 2. forage
& 3. migrate

" 4. scoot

Question ID : 26433073348
Status : Answered
Chosen Option : 3

Q.24
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A hummingbird’s brilliant throat colour is not caused by feather (1) , but rather by
iridescence in the arrangement of the feathers. Light level, moisture, angle of viewing, wear
and tear and other factors all (2) just how bright and colourful the throat may appear.
Hummingbirds cannot walk or hop, though their feet can be used to (3) sideways while
they are perched. These birds have evolved smaller feet to be lighter for more (4)

flying. They will use their feet for itching and (5) , however.

SubQuestion No : 24
Select the most appropriate option to fill in blank number 4.
< 1. slipshod

o 2. efficient
< 3. structured
X 4. methodical

Question ID : 26433073349
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

A hummingbird’s brilliant throat colour is not caused by feather (1) , but rather by
iridescence in the arrangement of the feathers. Light level, moisture, angle of viewing, wear
and tear and other factors all (2) just how bright and colourful the throat may appear.
Hummingbirds cannot walk or hop, though their feet can be used to (3) sideways while
they are perched. These birds have evolved smaller feet to be lighter for more (4)

flying. They will use their feet for itching and (5) , however.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. flouncing

5 2. scintillating
/< 3. devouring

4. preening

Question ID : 26433073350
Status : Answered
Chosen Option : 3
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